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Model Paper 2
1. The calling bell rang while I ......... (talk) to my friend
1) Have talked 2) have been taking 3) had talked 4) was talking

2. The train left at 9 a.m. | reached the station at 9.10a.m( which the following sentence express
the some idea)

1) When | reached the station, the train had already left
2) When the train had left, | had already reached the station.
3) When | had already reached the stadium, the train left

4) When | reached the station, | train left

3. eeerees water in this pond is polluted . don’t use it

1) A 2) an 3) the 4) No article.
4. She thinks he is ........ latha mangeshar

1) A 2) an 3) the 4) no article

5. Change the following sentence from direct in to indirect speech.
Tom says,”There is no ink in the ink-point”
1) Tom said that there is no ink in the ink pot.
2) Tom said that there was no ink in the ink pot.
3) Tom says that there was no ink in the ink pot.
4) Tom says that there is no ink in the ink nt
6. Raman will say,” Nobody was in the rhom”
1) Raman will say that noboc'y wags'ii the room.
2) Raman would say that nhbo.'v had in the room.
3) Raman will say thet nchody had in the room
4) Raman will say that nobody had been in the room
7. Some one introduced me to P.C.Sorkar.
1) lam introduced to P.C. Sokar 3) I was introduced to P.C. Sokar
2) | have been introduced to P.C. Sokar 4) | will be introduced to P.C. Sokar
8. The man ordered jerry to put down his gun( change in to passive voice)
1) Jerry was ordered to put down his gun.
2) Jerryis ordered to put down his gun.
3) Jerry was order to put down his gun.

4) Jerry has been ordered to put down his gun.

9. A wedding invitation card is a/an.........ccce......

1) official letter 2) business letter 3) personal letter 4) formal letter

10. The mode of address in a letter to a firm should be.....

1) dearsir, 2) Dear madam, 3) Dear friend, 4) Dear sirs,
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11. Don’t ......your work any longer.do it now........

1) Put off 2) put out 3)put up 4) put by
12. Identify the silent letter in the word. ‘doubt’

1) d 2)b 3)u 4) t
13. Identify the disyllabic word from the given list.

1) Art 2) segregate 3) salute 4) professor
14. Swaroopa rani married ......... a professor.
1) with 2) to 3) for 4) by
15. The yashoda doctors operated....... .bhanu........ apendicitis.

1) on, with 2) in, for 3) on, for 4) on, on
16. Ganthasala sang melodiously.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

1) noun 2) pronoun 3)verb 4) adverb
He is a man of integrity.

1) pronoun 2) preposition 3) adjective 4) adverb
Identify the correctly spelt word.

1) twelveth 2) twelfth 3) twelth 4) tvelveth
Ramesh is the tallest in his family ........... means.

1) Every one is taller than Ramesh.

2) Allare as tall as Ramesh

3) Noone else is as tall as Ramesh

4) Some members are taller than Ra= st

In the word ‘ organization’.itre_s 1ails on ............. syllable
1) first 2)second 3) third 4) fourth
/ b ae t | /change the phonetic transcription in to english word.

1) bottle 2) beetle 3) battle 4 ) bottom

/1:/ sounds in

1) Pin 2) pen 3) feel 4) fell

“ It is always better to put a side some money for a rainy day”, father said to his son. This is a
1) Command 2) counsel 3) request 4) demand

“Every student has to write number on the answer sheet in the space provided for it” . this is

1) Aninstruction 3) a piece of advice

2) Asuggestion 4) an enquiry

Alexander Graham Bell ................. the telephone.

1) Found 2) explored 3) invented 4) discovered

His personal was so absurd that every one laughed( what does the under lined word mean)

1) ridiculous 2) serious 3)useless 4)new

Cull ( synonym)
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1) select 2) enrage 3) refine 4) ATTACK

28. FIEND ( Antonym )

1) saintly 2) miniature 3) endanger 4) flipping
29. Karan came late, ........ ?
1) doesn’t he? 2)did he? 3) didn’t he? 4) wont’t he?

30. I have given him a few mangoes,

1) Havel? 2) haven’t T ? 3)don’t17? 4)didnt T7?

1) Asshyamalais my cousin, she lives in Madras.

2) Because Shyamala lives in Madras, she is my cousin.

3) Shyamala, who lives in Madras in my cousin

4) Shyamala lives in Madras , and she is my cousin
32. Heis incompetent, he is polite. ( change in to compound sentence)

1) Asheisincompetent, he is polite

2) Heisincompetent and he is polite.
3) Because he is incompetent, he is polite.

4) He is incompetent but he is polite.

33. You should study hard or you will not pass the test( choose its correct simple form)

1) Working hard you have passed the test

2) Hard study has made you pass the test

3) You will be passing the test by hard study

4) You should study hard to pass the tes?.

34. Finish that exercise. Only tl en\ will help you.

1) If you finish that exer«ise, “will help you.
2) If you finished that exercise, | will help you.
3) If you will finish that exercise, | will help you.

4) If you had finished that exercise, | would have helped you.

Passage

Through out the century has palanquin played a large part in Anglo-Indian life. It was the regular mode of conveyance
from house to office, and on all small journeys of business or pleasure, and on long expeditions across country. With
the growth of roads carriages of various sorts were used for afternoon airings, but the palanquin remained the
essential means of transport within the settlements. Every one down to the writer just arrived from England
possessed a palanquin if he could.

The original palanquin was the ‘dooly’, which was an ordinary string bedstead, five feet by two, covered with
a light bamboo frame and draped with red curtains. From this the ornate palanquin of Kolkata and Chennai was
developed .first the shape was changed to that of a hexagon. Then the sides were raised, more ornament was added
and the canopy was arched. Cushions were added inside, and curtains which could completely close the palanquin if
desired. The occupant reclined at full length, and was often supplied with specially designed hookah, at which he
could pulp as he was borne along to business.

In Kolkata, Oriyas were usually employed as bearers, but their monopoly was later broken by men from
Patna and Dacca. The usual number in a set was seven, one cooking for the rest, one being the sirdar or head bearer.
The actual carrying was therefore done by five men. The palanquin bearers were very independent and on occasion
went on strike.

35. The palanquin was
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36.

37.

38.

39.

40.

Model Paper 2
1) The only mode of transport for the Anglo-Indians
2) One of the modes of transport for the Anglo-Indians
3) The regular mode of transport for expeditions.
4) A suitable mode of transport for after noon airings.
Carriages were regularly used for
1) Long expeditions 3) business trips
2) Afternoon airings 4) pleasure trips
Mark the correct statement
1) Oriyas were always employed as bearers.
2) Oriyas were never employed as bearers.

3) Oriyas were, initially employed as bearers.

4) Oriyas were often employed as bearers.

The palanquin was used for

1) Smoking hookah  2)sitting 3) sitting and reclining  4) red'ining

The usual number employed for palanquin was

1) Five 2) seven 3) six 4) eight
Identify the sentence with correct punctuation

1) I|came; |saw; | conquered.

2) |came, | saw, | conquered.

3) Icamelsaw, | conquered.

4) |came, | saw, | conquerc!

KEY SET
2) 1 3) 3 4)1 5) 4
10) 4 11) 1 12) 2 13)3
18) 2 19)3 20) 4 21)3
26) 1 27) 1 28) 1 29)3
34) 1 35)3 36) 2 37)4

14) 2
22)3
30) 2

38) 1

15) 3
23)2
31)4

39) 2

16) 1
24) 1
32) 4

40)1




Indiavidya.com

MODEL PAPER - 3

1

2

3

10

Which of the sentences indicate strong compulsion?

1) You must see a doctor 3) you can see a doctor
2) You should see a doctor 4)you ought to see a doctor
Don’t distrub me! I ......... ( prepare) for D. S.C

1) prepared 2) am preparing  3)have prepared 4)have been preparing
At last ........father in him aroused after looking the tears in his daughter’s eyes.
1) A 2) an 3) the 4) No article.

| consider it ....honour to meet the president

1) A 2) an 3) the 4) No article

He advise me not to waste money

1) “Don’t waste money,” he said to me. 2) “ Why are you waste money?”, h¢ sa d to me

3)” Don’t wastes money,” he said to me 4) “Never wastes money, “he s2ic. to me

He said that all had been laughing at the beggar

1) Hesaid,” All were laughing at the beggar”  2) He said,” Wer< a ‘laughing at the beggar”
3) He said,” All have been laughing at the beggar 4)” H{s2id,” Il are laughing to the beggar”
Miss. Sullivan took away the doll.( change in to passive ‘oice )

1) The doll has been taken away by Miss. Suliten

2) Thedollis taken away by Miss. St.i'ivan

3) The doll was taken away by ivii=. Zuiivan

4) Thedoll had been taken a'ray by Miss. Sullivan

We know that the sun is much bigger than the earth

1) It was known to us that the sun is much bigger than the earth

2) Itis known to us that the sun is much bigger than the earth

3) It has been known to us that the sun is much bigger than the earth

4) It will be known to us that the sun is much bigger than the earth

letters to intimates should be written in..............
1) Formal style 3)a respectful manner
2) business like 4) conversational style

The body of the letter contains..............

Salutation 2) message 3) acknowledgement 4) None
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11 ourcar......... on the way home from the cinema
1) Broke up 2)broke up 3) broke down 4)broke off
‘ ")
1) g 2)n 3)n 4)c
13 supply the missing letter in the following word. Arch-- -- --logist
1) eao 2) aeo 3) eio 4) ieo
14 Lord Carnervon’s brother.died ........ a burst appendix
1) with 2) from 3) of 4) for

15 We have aclass again ......Friday.

1) on 2) at 3)in 4) by

16 Identify the part of speech of the underlined word

The king lived for several years in the forest.

1)  Noun 2) verb 3) adjective d)adiTre
17 Polya was an illiterate woman
1) noun 2) adjective 3) verb 1y adverb

18 Identify the wrongly spelt word

1) forgoten 2) entrance 3) « odits 4) innocent

19 Everest is the highest peak in the world(.chan'ze i1 to comparative degree)
1) Everest is higher than many oth. r pea. s in the world
2) Everest is higher than any ou. er peaks in the world
3) Afew peaks in the world are as high as Everest

4) No other peak in the world is so high an Everest.

20 Identify the part of speech of the word “ export “

1) Noun 2) Adverb 3) adjective 4) conjunction

21 /k? mjun @ n/

1) communion 2) communication 3) commission 4 competition
22 [etl)h /
1) itching 2) etching 3)hinting 4) chin

23  You won’t be allowed to go for a movie unless you finish your home work,” said the father. He is.......

1) Making a suggestion 2)imposing a condition
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3) Admonishing the child 4) offering an advice

24 Can | carry the suitcase for you? This sentence is a
1) offering help 2) rejecting an offer 3)apologizing 4)seeking permission,
25 The behavior of the guests is _hospitable ( the under lined words mean)
1) unfavorable 2)ridiculous 3)welcoming 4)funny
26 You are sitting in a bus waiting for it to leave. It is already 10 min late.(what would you say)
1) it'stime the bus had left 2)it’s time the bus left
3) it’s time the bus is leaving 4) it’s time the bus was leaving
27 Poor people in India are forced to live in small holes in crowded cities. The word hole means
1) bighouse 2 small house 3) slums 4) hamlets
28 She was a spinster school teacher ( opposite word) N
1) bachelor 2)widow 3) widower 4) d vorced
29 The A. P government is not organizing different children games p es: otlv........?
1) I1sit?  2)Wasit? 3)isn’tit  4)wasn’t it?
30 They did every thing;........... ?
1) did they? 2) Weren’t they  3) didn’i they® 4) don’t they
31 Despite heavy rains there was scarcii »ir. fooc er-.ins last year ( compound from)

1) Though heavy rains there was.a . carciiy in food grains last year

2) Inspire of heavy rains sc' rcity was their in food grains last year

3) There were heavy rains yet there was a scarcity in food grains last year

4) None-of-thase
“r NORE-O+HeS

1) In spite of the cooperation of all members. The work was not completed.

2) There was cooperation of all members. The work was not completed.

33

3) There was co-operation of all members, other wise the work was not completed
4) There was cooperation of all members, yet the work was not completed

Fill in the blank with appropriate word

Itwasa ... day so we decided to go on a picnic.

1) pretty 2)hand some 3)lovely 4) good looking

Passage
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A pioneering scheme has been started recently in Southampton on England’s south coast to educate motorists who have been

convicted of drunken driving.

The penalty for drunken driving might be the loss of a driving license and a heavy fine. But under the new scheme, convicted
drivers do not pay the fine. Instead they have to attend eight training sessions one week-organized by the local authority
probation service. Designed to demonstrate the damage alcohol can do, the scheme was devised by senior probation officer
John Cook. He said about a quarter of the people who came to him had a drink problem, but had not realized how much they
were drinking one way of getting the message across was to make the drivers pour out their usual ration of alcohol- and then

measure it.

Al most every one pours out not a single measure but a double at least- an example of how easy it is to have more than “just
one drink” and to encourage other people to do the same. The instructors on the course are giving clinical evidence of the
effects of alcohol on the body and brain. The sober truth is that drink badly affects driving skills, although the drinker might like
to believe other wise.

34.The Southampton scheme requires convicted drivers
1)To pay heavy fine
2)To attend eight driving sessions-one week
3)To undergo a probation service

4)To surrender their driving license

35.John Cook devised the scheme

1)As a demonstration technique for driving

—  2\To demonstrate the harmfuleffects o 3w she
3)To show that south-amp ton wis ctiaraed about drivers

4)To prove that alcohol does i1 “luer.ce driving

36.The problem with a quarter of the people who went to john Cook was that they

1) Did not want to stop drinking

2) were unaware of the fact that they could get drunk
3) Would not admit that they had a drinking problem

4. Did not know- how much they were drinking

37.Most drivers start off with at least

1)A double measure 3) a little less than a single measure

2)A single measure 4) two doubles

38. The truth is that alcohol
1)Does not effect the body but only the brain

2)Affects only brain
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3)Affects the body and the brain

4)Has no effects on the body or the brain
39.which of the sentence is correct

1)Raju said “ Where are you going”

2)Raju said “where are you going?”

3)Raju said ,“ Where are you going”

4)Raju said, “ Where are you going ?”

40.Identify the sentences with correct use of punctuation

1)This is Ramu’s bag. 2) thisis Ramu’s bag.

3)This is ramus bag. 4) This is ramu’s bag.

Key

1)2 2) 2 3) 3 4)2 5) 6) 3
7)3 8) 2 9) 4 10) 2 11) 3 12) 1
13) 2 14) 3 15) 1 16) 2 17) 2 18) 1
19) 2 20)1 211 ) e 23) 2 24)1
25) 3 26) 2 27)2 2o)1 29) 1 30)3
31)3 32)4 33) 3 34)3 35) 2 36) 4

37) 1 38) 3 9, 40) 1
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MODEL PAPER -D.S.C. ENGLISH PROFICIENCY TEST--IV
FOR S.A/S.G.T/ PANDITs / PETs

1. If you want to know the distance from junior college to Post-Office, How
Will you ask?
1. Is the Post-Office for from here?
2. What distance to the Post-Office?
3. How long is Post-Office from here?
4, How far is Post-Office from here?

2. It (rain) when | (meet) them.
1. rained, met 2.rains, meet 3.had rained, met 4.  was raining, met

3. water is precious. Don’t waste it.

1. A 2. A 3. The 4. No article
4. My father wanted my sister to have good education

1. The 2. An 3. a 4. No article
5. He asked me whether | had come there the previous day.

1. He said to me, “Did you come here yesterday?”

2. He said to me, “Have you come here yesterday? “

3. He said to me, “Did you came there yesterday? “

4, He said to me, “Did you came here yesterday?”

6 The teacher said “Honesty is the best policy”
1. The teacher said that “honesty is the best policy”
2. The teacher said that honesty is the best policy
3. Teacher said that honesty is best policy
4

. The teacher said asked that honesty is the best policy. N

7 We shall be praised by everyone (Change into Active voice)
1. Everyone will praise us.
2. Everyone shall be praising us.
3. Everyone shall praise us.
4, They shall praise us. _
8 The teacher asked every student a question (chancz > P.V)
1. Every student was ask a question by the teache'.
2 Every student is asked a question by tk= *teacher
3. Every student were asked a question by w2 1c.cher.
4. Every student was asked a questiun by the ea’her.
9. Formal language is used in letterto -
1. friends 2. relat've. 3. officials 4. None
10. The correct form of address < ~ ('ose friend is
1. Honorable sir, 2. My most respected sir,
3.Your majesty, - My dear,
11. Shanthi is a neat girl. Si e her books and went to bed.
1. put up 2. put down 3. put away 4. put up
10. Identify the silent letter in the word “bouquet”
1. o] 2. b 3. e 4. T
13. The temperature varies 20 and 25 degrees
1. from 2. in 3. with 4. Between
14. They have lived in the street last year
1. since 2. for 3. till 4. Until
15. They go to church once a week
1. Adjective 2. Adverb 3. Preposition 4. Conjunction
16. She slipped in the bedroom.
1. Noun 2. Pronoun 3. Verb 4. Adverb
17. Identify the correctly spelt word.
1. lieuftenant 2. thundarous 3. neumonia 4. flogged.
18. Gandhiji is one of the most famous Indian leaders (change into Comparative Degree)
1. Gandhiji is not most famous Indian leaders
2. Gandhiji is not more than any other Indian leaders
3. Gandhiji is more famous than many other Indian leaders
4. Gandhiji is not more famous than any other Indian leaders
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19. I rlz): Iv/
1. resale 2. resolve 3. receive 4. Regain

20. [sta:tid/

1. Startled 2 started 3. stared 4, Stayed
21 Your uncle is suffering from severe fever.

(which of the following would you like to suggest to your uncle)

1. You can see a doctor

2. You should see a doctor

3. You must see a doctor

4. You may see a doctor
22. The road in front of your house is ten miles long (Choose the appropriate question that
seeks this information)

1. What length is this road?

2. What is the length of this road?

3. How much long is this road?

4. How length is this road
23. Sudhachandran’s left leg was amputated.

1. cut 2. cut off 3. treat 4. operated.

The King had abnormal and excessive love for himself .
24, This is called
1. Narcissism 2. Narcotic 3. mania 4. Optimism

25. Cajole (synonym)

1. beck on2. elf 3. wheedle 4. Procrastinate
26. I am waiting for the bus, ?

1. amnt | ? 2 are|? 3. aren’t | ? 4. don’t1?
27. You watched a movie with your brother. You thought i*=x »s i'iteresting. You want your
friend to agree with you. (What will you say?).

1. The movie is interesting no? 2. The Movie 5 interesting, isn’t it ?

3. The movie is interesting, was it? 4. The o\ < is interesting, is it?

28. She was surprised by my amiability (oppos.‘e .:<.rd for the underlined word)

1. Prudence 2. Petulance 3. Sincerity 4. Apathy
29. Raman lives here; he is my friend (Choo e «omplex form)

1. Raman who lives here, is my.fiiaid

2. Because Raman is my fiienc, tie .’es here.

3. Raman is my friend ana he'is 1.3 friend.

4. Raman lives here and/ne i..n.y friend.

30. hough he was angry he ‘riea to be clam (Choose the compound form)

He was angry but i = tricd to be calm
He tried to be calm bcecause he was angry
In spite of being angry, he tried to be calm
He was angry so he tried to be calm.

PwN o

31. Choose the correctly spelt word from the four words given below.
1. Monatonous 2. conscience 3. Inscreption 4. Irevocable

Passage
Aside from the construction of tombs, mosques and other buildings the Adilshah
Rulers paid great attention to the construction of waterworks. Indeed it became imperative to
devise arrangements of a long term nature that would supply water to the city of Bijapur. These
schemes were so ingenious it is hard to believe that what we know today as a city with a
perennial water problem could have been so lavishly provided with water, not just for essential
purposes, but also to fill the tanks, fountains and artificially constructed channels of the
residences of the fullers and their nobles and for the countless other public buildings.

32. The writer says that the Adilshahi rulers

1. built more tombs and mosques than waterworks
2. built tombs, mosques and other buildings only
3. built tombs, mosques, other buildings as well as waterworks
4, did a lot to construct huge dams
33. The writer is of the opinion that making arrangements for the supply of water to the city of
Bijapur was
1. matter of high priority task
2. not a very urgent task

3. not thought of for a long time
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4, not feasible
33. “These schemes” refers
1. Palace intrigues 2) water supply arrangements
3. Irrigation facilities 4) construction of dams.
35. The word “Ingenious” means
1. Faulty 2. Scientific 3. Primitive 4, Skilful
36. During the Adilshahi days the city of Bijapur
1. Suffered from water shortage
2. Had just enough water for essential purposes
3. Had enough supply of water for all purpose
4. Had plenty of water from time to time
Key
14 2) 4 3) 4 4)3 5) 1 6) 2
1 8) 4 9)3 10) 4 11) 2 12)4
13)4 14) 1 15) 2 16) 3 17)4 18)3
19) 2 20) 2 21)2 22)2 23)2 24) 1
25)3 26) 3 27)2 28)2 29) 1 30) 1
31)2 32)3 33) 1 34) 2 35) 2 36) 3
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1 The cinema hall is full there be 500 people in the hall
1 may 2 must 3 can 4 should

He never for my advice
1 care 2 cared 4 was caring

man is mortal
2 An 4 No article

4 no article

He said “Can | do the sum?”

1 he asked whether he would do the sum
2 he asks if he could do the sum

3 he asked whether he could do this sum
4 he asked whether he could do the sum

Bali said, “Raman had returned at noon”

1 Bali said that Raman had returned at noon.

2 Bali said that Raman was returned at noon

3 Bali says that Raman had returned at noon

4 Bali said that Raman had been returned at noon.

| was given a car by Ravi (Change in Active voice)
1 Ravi gave me a car 2 Ravi gives a car
3 Ravi has given me a car 4 Ravi had given a car tz:ne

They asked me many questions (Change into passive voice)
1 We asked them many questions 2 |1 was asked many aue stions by them
2 They were asked many questions by me 4 They are asked r. any juestions by me

The body of the letter begins with as follows “wviit'i 127erence to your application dated

what kind of a letter do you think it is
1 official 2 personal 3 brsiness 418&2

Which of the following subscription is correc.?
1 yours lovingly, 2 yours Lovingly, 3 ‘ours lovingly, 4 Your's Lovingly,

The headmaster has received a complaidt, and he is
1 looking into 2 looking vreugn. 3 looking at 4 looking for

He has been waiting e asults
1 with 20t 3 off 4 for

Ravi put up his frienciin i.lysore
1at 2 of 3 along 4 with

Come soon else we will be late for the move
1 Verb 2 Adverb 3 Conjunction 4 Prepositions

He likes bread with peanut butter
1 noun 2 proposition 3 conjunction 4 interjection

Identify the wrongly spelt word
1 tution 2 matinee 3 guitar 4 attendance

Meena’s house is more spacious than veena’s (Change into P.D)

1 Meena’s house more spacious 2 veena’s house is as spacious as Meena’s house
3 veena’s house is more spacious than meena’s house

4 veena’s is not as spacious as Meena'’s House

/I 3:n / change the phonetic transcription into English word
1lean 2 learn 3 lawn 4 lane

13/ sounds in
1 pleasure 3 possible 4 assure

It may rain today (This is a
1 expressing possibility 2 giving advice 3 making a suggestion 4 enquiring
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What a stupid idea!
1 criticizing 2 exclaiming 3 apologizing 4 ordering

There were rumblings of dissent at the meeting (The under lined word mean)
1 pleasant noise 2 low, vibrant sound 3 silence 4 disturbance

Boast (synonym)
1 Urge 2 Request 3 Crow 4 Elevate

Choose the word opposite in meaning to the underlined word and till in the blank
Such talks are absurd; you should indulge in
1 correct 2 fictional 3 proportional 4 rational

You will read poems
1 will you? 2 would you? 3 Won't you? 4 Would n't you?

A few people attended the meeting 7
1 didn’t they? 2 did they 4 don’t they

Few people attended the meeting, ’
1 didn't they? 2 did they? 3 do they? 4 don'’t they?

Shankar did not study well so, he failed in the examination (convert to a complex one)
1 As he did not study well, Shankar failed in the Examination

2 Shankar’s failure was the result of his not studying well

3 shankar studies well, yet, he failed in the examination

4 Shankar’s failure was caused by his not studying well

Unless you work hard, you will not get first prize (compound)
1 you must work hard to get first prize

2 you must work hard or you will not win the first prize.

3 Working hard you may get the first prize

4 to get the first prize you must work hard

PASSAGE
Some years age | had the privilege of meeting the world’'s z!dest iiian. At least he said he was. And
he was so dogmatic about it that the promoters of a cal.ooun =uip that specialized in unbelievable
additives brought the old man up to New York from his riativa“‘Columbia, to have him examined by a
team of doctors at the Cornell Medical Centre. He was ar Indian, he was four feet four inches high,
and he had an alligator hide completion and.a tcnde:. cy 1o swing with his right whenever he was
passed from one medinciti another. He said.i=2 w22 167, born the same year as the American
Constitution. When the name of George Wa hir.gton was suggested to him, to help him fix his
generation, he said he remembered the rici v« ll. But he resented coming all the way of New York.
He wanted to be left alone to go abodit his hus.iess, which at that time was the business of looking for
a sixth wife to comfort him in his app.2<chiig old age.

The old man was ‘dogmatic’ abouc (hefact that
1 he was a comical creatuie. 2 they wanted to feature him in a cartoon strip
3 a person surviving at that age was odd and unbelievable
4 He had the tendency of the swinging with his right

The old man claimed that the Americans gave themselves a Constitution
1 Before he was born 2 in the year of George Washington’s birth
3 two centuries ago 4 one hundred and sixty seven years ago

George Washington’'s name was mentioned to the old man

1 to teach him a bit of history

2 to know whether he had any personal equation with Washington
3 to make fun of his advanced age

3 to determine his age

The old man did not like being brought to New York because
1 at that time he was busy looking for a sixth wife

2 he didn't like traveling much

3 he didn’t like New York as a city

4 he preferred to be left alone in his native village

An area where birds and animals are protect
1 Museum 2 observatory 3 sanctuary 4 Zoo

Find out the part of sentence which has an error.
The Director along with (a) / the staff members (b) / were present for( ¢ )/ the annual day celebrations(d)
la 2b 3c 4d
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DSC English Model Paper

36 If you were regular in studies
(Fill in the blank choosing the mot suitable clause from among the following)
1 You will get a first class 2 you would get a first class
3 you would have got a first class 4 you get a first class

KEY
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MODEL PAPER -6

1. He met with accident, while he the road.

1. crosses 2. Crosse 3. had crossed 4. was crossing
2. If you sold a house, you a lot of money.

1. get 2. will have got 3. will get 4. would get
3. | waited for them for hour and ---------- half

1. a, a. 2. an, an 3. a, an 4. an, a
4. How blue sky looks

1. a 2. an 3. the 4. No article
5. He said to me “I finished the work long ago”

1. He told me that he had finished the work long before

2. He told me that he had finish the work long a before

3. He told me that he had finished the work long ago.

4. He told me that he had been finished the work long before.
6. The tourist enquired where the Taj Mahas was

1. The tourist said “where is the Taj Mahal ?”.

2. The tourist said, “where was the Taj Mahal ?”

3. The tourist said, “where the Taj Mahal is ? *

4. The tourist said, “where the Taj Mahal “
7. Shakespeare wrote hamlet (change in Passive Voice)

1 Hamlet writes Shakespeare.

2. Hamlet is written by Shakespeare

3 Hamlet wrote Shakespeare.

4 Hamlet was written by Shakespeare.
8. He was driven to desperation by poverty.

1. Poverty was driving desperation into Y.

2. He was driving into desperation v poveriy

3. Poverty drove him to desperatio:

4. Poverty has driven desperatien ino him.
9. While sending a telegram the.werds ise:d should be

1. lengthy 2. termal 3. ornamental 4. Brief
10. The subscription in the leter wiiien to a close friend should be

1. yours truly z.vours faithfully 3.yours lovingly 4. yours obediently
11. The match was by the umpires because of bad weather.

1. called for 2. called forth 3. called in 4. called off
12. Identify the silent letters in the word tongue.

1. u 2. e 3. g 4. Ue
13. Choose appropriate word

My cousin speaks English and correctly.

1. Speedily 2. dangerously 3. fluently 4. Meticulously
14. There was quarrel all members

1. between 2. beside 3. with 4. Among

15. any cost you have to sit here.

1. in 2. from 3. at 4. Over

16. | saw a snake when | was crossing the road.

1. Adjective 2. Conjunction 3. Preposition 4. Interjection
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17. Identify the wrongly spelt word.

1. coming 2. petetion3. certain 4. Captain
18. Some rivers are at least as long as the Godavari. (Change into S.D)

1. The Godavari is not the longest of all rivers in India.

2. The Godavari is the longest river in India.

3. The Godavari is one of the longest rivers in India

4, No S.D.
19. /taust / change the phonetic transcription into English word.

1. taste 2. toast 3. trust 4. Task
20. /lea/ change the phonetic transcription into English words

1. air 2. ear 3. are 4, Ore
21. The weary travelers sat under the shade of a tree

(The underlined word mean)

1. happy 2. sad 3. tired 4. Relaxed
22. Crouch (Synonym)

1. Squat 2. Sprint 3. Complain 4. Bend
23. Crest fallen (Antonym)

1. abashed 2. broken 3. trebly 4. Coearfus
24, Every body followed Gandhi in freedom movement ?

1. did they ? 2. didn’t he ? 3. dan’'t thoy ? 4. didn’t everyone?
25. Please, sit down, ?

1. Canyou ? 2. will you ? 3: 1o you ? 4. don’t you ?

26. Find out which part of the sentence has an er o, 2ac.: part is marked with A, B, C OR D.

1. After careful scrutiny of the repoit (A, / va ety of mistakes that had been(B)
made by the research (7). Department here found (D)
1.A 2B 3.C 4.D
27. He was transferred, so he shificd s tamily, (Simple form)
1. He was transferred t.erei.re he shifted his family
2. Having been transfe.meune shifted his family
3. Since he wasrar.=ferred he shifted his family
4. As he was trans‘arred he shifted his family.
28. You can eat as much as you wish (Convert to simple form)
1. Eat well so that you’re content
2. You can eat to your heart’s content
3. Since your want to be content, eat well

4 Eat as much you wish and you will be content.

Passage

The man was up to his knees in snow. He stopped at every step, fighting for breath, trying to calm his
heart, which was beating as though it would burst out of his body. Even through dark glasses the
snow was blinding while a fierce wind tore at him and cut like a knife through his clothing. The cold
was terrifying. It worried him very much for his feet had lost all feeling in his heavy boots and he
knew that in this high place, he and his companion might lose their toes from frost-bite.

29. What region was the man traveling through?
1. Hot region 2.snow 3. Very cold region 4. Frozen snow region
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30. What were his eyes covered with?
1. His eyes were covered with clothes 2 His eyes were covered with snow
3. His eyes were covered with dark glasses 4. His eyes were covered with hot wind
31. What kind of boots covered with?
1. Leather boots 2. Light boots 3. Rubber boots 4.Heavy boots
32. What causes to lose one’s toes at such a high place?
1. Heart beating 2. Terrifying cold 3. Frost-bite 4. Long walking
33. What do you think the purpose of his journey ?
1. Mountaineering 2. To find his companion 3. To fight for breath 4. Adventure and thrill
34. Complete the following word
disobed nce
1. ie 2. ea 3. ae 4. ei
35. Rama Rao devotes his service and his wealth for the service of mankind. He is a
1. Feminist 2. Philanthropist 3.  Cannibal 4.socialist
36. Identify the part of sentence which has an error.

Though (a) / he worked (b) / very hard (c) / but he failed (<}
1. a 2. b 3. c 4. D

KEY
1) 4 2) 4 3) 4 4)3 5) 1 6) 1
7)4 8)3 9) 4 10) 3 11) 4 12) 4
13) 3 14) 4 15) 3 16) 2 17) 2 18) 1
19) 2 20) 1 21)3 22) 4 23) 4 24)3
25) 2 26) 2 27)2 28) 1 29) 4 30) 3

31) 4 32) 3 33) 4 34) 1 35) 2 36) 4




